o5 & o] 1t - 8x% - 99] )14=7} ofd
@ x-3 @ x+3
@ x2+1 @ x*2+9

® ¥ +3x24+x+3

209

A .



X2 =2x—y* +2y 5 A2 SHAEY (x+ay)(x—by+c) 7F AL
&, a+b+co ge Fsteiet

e =
c



x3—4x2 + x4 62 AFEOHOFH (x+a)(x+b) (x+c) °Ith. a®+b%+c?
o] k& ool

s
=¥



~r © 0

<t 0

o o

AN o

PR 22 4 ax+ b =09] T 0] 2, 3% o, o]
®

— 0
)



o ATy =4x2 - 24x+ 102 x=a ¥
o] 3 totofet,

s
=¥

1w, )52k b






(=2x* + x> + ax+ b)? O] HAINA oA x3 O] A7 -8 W, a—2b 9]
Z



=
54

o] A%

>

(X+yl)(z —i) = 10%

=R 7



9. g2 At (2 i= V-1)

V-18 VI8
V3V-3+ \/__3\/__3+7+ﬁ

w
=



0>~' +

b_O X% +2bx+3a=0%
o ab °] & Fotefzt,

Ao TSt x = -18

ol



11.

Ay = mx - 47} o)A y = 24% - 3 9] T 2of HIHLE St

¥ m ] L7

D V2 @ 2 B3 6 @ 22 ® 4






13.

OIAF}< y = —2x% + 2ax o] F|Tigto] 8L wf, 4

(Fa>0)

D1

0.



14.

19| QA B % shtel 6128 wet B ), B %

D ?4+w+1=0

@ w=1
® 19 AAEZE 1, w, w? o2& YERd 4 lth
@ =0 oe v BHELSTOIH)

@ CL):—U)2

=4

A

£°9



R(x) o Hhate] x7 -2 = (¥ + x)0(x) + R(x) 7}
Fe? (T R(x) O] A4 o]7} olsfelet)

® 4 @ 8 ® 16



16.

BASz=a+bi,w
st ohs 5 &2
Zeole})

D iz=w

+ai (a, b= a
A&7 (&, z,
w

@ -

Z

@ z-



17. BA%5 7 ot |z |= 2+ 82 WEAZD o, | 7 29 322 (T,
z=a+bi(a,b= 2L W, |z|= VaZ + b2 °|t})

@ 68 @ 100 ® 169 @ 208 B 289



¥ +ax+ (a®> +2a-3) =09 F o] A2 ohE FS & ZE1 oF o]
So] AUGRAT A2 1) A% 8] WIS FohE?

1
D 0<ax<l1 @§<a<2 ®1<a<?2

1
@ 2<a<3 @—§<a<2



Kkl

W} Zo] o] 20 cm Q1 YT 72 A Tdo] 2Rzt

- 14

19. o

ok, ol Hol7k A w, xo] ghe?

® 5cm 3 6cm @ 7cm 3) 8cm

D 4em



x2=2(a+2)x+2a*+6 =0 9 F o] A

@ 3 ® -1, -3

Q]
=



p(x)
(x=-1)(x=-2)(x=3)(x—4)(x=5)
_a b c d e
x—1+x—2+x—3 x—4+x—5

® 90 26,0 ®© e



rr

_x)

ohglal o {f )} & 208 s UmAE x4 108k
S E PR e ), YA]E?

¢

el
-

1 1
Dxty @ xty @g'f—l @§+1 ® Z+1



23. xol gk f(x) = x*+ax® +bx+c o Aot f(x)+2, xf(x)+2

7} RE A x— o 2 o] Wl wl, at b+ ¢ O] G

@ -3 ® -1 ® 0 @ 1 B 3



24. oLy =x2-2px +2p? —4p+2 9 HEFgS moltE W, m
o] H|&gt= otofet

s
=¥



25. AG7h A5 AAEHA e +dxt 1 = 00] T A
0,02 A W, ¢ +d 0] HS Fo?

el

1
j

@D 6 @ 5 B3 4 @ 3 B 2



